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Question 1
MHmdgeo Lobdotmg 0mzwgds B396L J3994sbsdo LsdMmghzgwrm LobdoMgo

Select one:

a. 60 3g;

b. 40 3g;

c. 100 3;

d. 50 3g;

Question 2

H6Mgol LOo  30degdly®o Hoboswmds
R L C

Select one:

a. Z =vR+ X?
b. Z=R+j(wL -1 /(wC))
C. Z=R>-w?L?

d. Z=R-j(wL+1 /(wC))

Question 3

4500096%9M 00090L 960 dobodseE® 36093690 ™dsL 1 {i3-80, 0wy dolo Lobdomg 100 3;3-o0s:
Select one:

a. 200-x96;

b. 50-x96.

C. 100-x96;

d. 25 -x96;

Question 4
OMYm6 5068935 3mbEGHMOMOo ©BIdOL YOO F0TSMHMNEGdS?

Select one:

a. 69d0LdogMo dodsMrYIEgdS

b. Lssmol oGOl 308G M gdom
c. brgg0olsdgde

d. Losmol oMo Lsffobsswdgym
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Question 5
3L 50b0dbsgL 9398mm HomIM©Ygbowro AMsxz03Mwo Loddmenm:

O,

Uﬂ = k.lrj

Select one:

a. 4503000 F9MH™M3500 ds030L {gomm
b. @gbom dsOMN3500 ©gbol Fystrm;
C. ©960m FoOmM3500 d5030L gt ;
d. 353300 FoMM35000 @IHOL FyoOm;

Question 6
HmIgaos 303030 gbol LHmOo 4s6dsM@Hgds.

Select one:

a. gb sMoL 9gbo, HMIGEOE EOMOL 496353¢PMdST0 M 033l 0TS ;

b. 9b 5ol @960, HMIGEoE OMOL FobsgEMdIT0 3¢ 0330l LOWOEILS S BVSOMVIEGB;
C. 9B 5G0b gbo, MHMIGEOE OHMOL FobTogemdsdo s 0330l Loogbs,;

d. gb 560b ©gbo, GmIgrroy 3>gEBIds JEgdON FOgwdo;



